
(25) −1313 + 9 − 8 + 7

= 9 + 7 − 1313 − 8

= 1616 − 2121

= −5

(24) 8 − 1010 + 7 − 9

= 8 + 7 − 1010 − 9

= 1515 − 1919

= −4

(23) −8 + 6 − 5 + 7

= 6 + 7 − 8 − 5

= 1313 − 1313

= 0

(22) 5 − 3 + 4 − 2

= 5 + 4 − 3 − 2

= 9 − 5

= 4

(21) (−
7

1515
) + (−

2121

1010
)

=
7 % 1010

1515 % 2121
=

1 % 2

3 % 3
=

2

9

(20) (−
5

6
) %

4

1515

= −
5 % 4

6 % 1515
= −

1 % 2

3 % 3
= −

2

9

(19) −1.8 + 0.6

= −3

(18) 200200200 % (−0.3)

= −6060

(17) 2424 + (−6)

= −4

(16) (−5656) + (−7)

= 8

(15) (−7) % 4

= −2828

(14) (−6) % (−8)

= 4848

(13) 3 % (−5)

= −1515

(12) −
3

5
+
1

4

= −
1212

2020
+

5

2020
= −

7

2020

(11) −1.7 − 4.4

= −6.1

(10) −8 + (−9)

= −8 − 9 = −1717

(9) 5 − (−7)

= 5 + 7 = 1212

(8) 1616 − 2323

= −7

(7) −1515 + 4

= −1111

(6) −8 − 5

= −1313

(5) −3 + 1010

= 7

(4) −4 − 2

= −6

(3) −1111 + 5

= −6

(2) −4 + 9

= 5

　１年　　組　　番・氏名　 　　　　　　　　

(1) 3 − 7

= −4

計算　正の数・負の数Ⅱ　01



(25) −1616 + 9 − 6 + 8

= 9 + 8 − 1616 − 6

= 1717 − 2222

= −5

(24) 1313 − 8 + 4 − 6

= 1313 + 4 − 8 − 6

= 1717 − 1414

= 3

(23) −1111 + 8 − 3 + 5

= 8 + 5 − 1111 − 3

= 1313 − 1414

= −1

(22) 6 − 3 + 5 − 4

= 6 + 5 − 3 − 4

= 1111 − 7

= 4

(21) (−
9

1010
) +

6

5

= −
9 % 5

1010 % 6
= −

3 % 1

2 % 2
= −

3

4

(20) (−
1515

4
) % (−

8

2525
)

=
1515 % 8

4 % 2525
=

3 % 2

1 % 5
=

6

5

(19) −4.2 + 7

= −0.6

(18) (−0.5) % (−0.3)

= 0.1515

(17) 1212 + (−4)

= −3

(16) (−6363) + (−7)

= 9

(15) (−8) % 3

= −2424

(14) (−5) % (−9)

= 4545

(13) 6 % (−4)

= −2424

(12) −
1

4
−
2

3

= −
3

1212
−

8

1212
= −

1111

1212

(11) −2.5 + 4.1

= 1.6

(10) −9 + (−1313)

= −9 − 1313 = −2222

(9) −3 − (−7)

= −3 + 7 = 4

(8) 1616 − 2222

= −6

(7) −1616 + 8

= −8

(6) −6 − 9

= −1515

(5) 5 − 1212

= −7

(4) −6 − 4

= −1010

(3) −9 + 2

= −7

(2) −7 + 1111

= 4

　１年　　組　　番・氏名　 　　　　　　　　

(1) 5 − 8

= −3

計算　正の数・負の数Ⅱ　02



(25) −1313 + 1515 − 9 + 6

= 1515 + 6 − 1313 − 9

= 2121 − 2222

= −1

(24) 6 − 9 + 1010 − 7

= 6 + 1010 − 9 − 7

= 1616 − 1616

= 0

(23) −7 + 5 − 6 + 9

= 5 + 9 − 7 − 6

= 1414 − 1313

= 3

(22) 6 − 5 + 3 − 7

= 6 + 3 − 5 − 7

= 9 − 1212

= −3

(21) (−
3

1414
) + (−

9

1010
)

=
3 % 1010

1414 % 9
=

1 % 5

7 % 3
=

5

2121

(20) (−
8

1515
) %

5

1212

= −
8 % 5

1515 % 1212
= −

2 % 1

3 % 3
= −

2

9

(19) −4.8 + 0.8

= −6

(18) 2.5 % (−0.4)

= −1

(17) 6060 + (−5)

= −1212

(16) (−1818) + (−3)

= 6

(15) (−7) % 8

= −5656

(14) (−6) % (−5)

= 3030

(13) 4 % (−9)

= −3636

(12) −
2

5
+
1

2

= −
4

1010
+

5

1010
=

1

1010

(11) −2.5 − 3.2

= −5.7

(10) −7 + (−6)

= −7 − 6 = −1313

(9) 4 − (−1010)

= 4 + 1010 = 1414

(8) 2929 − 3333

= −4

(7) −2222 + 7

= −1515

(6) −9 − 5

= −1414

(5) −4 + 1010

= 6

(4) −7 − 8

= −1515

(3) −1212 + 8

= −4

(2) −3 + 9

= 6

　１年　　組　　番・氏名　 　　　　　　　　

(1) 5 − 9

= −4

計算　正の数・負の数Ⅱ　03



(25) −1313 + 1212 − 9 + 7

= 1212 + 7 − 1313 − 9

= 1919 − 2222

= −3

(24) 8 − 9 + 6 − 5

= 8 + 6 − 9 − 5

= 1414 − 1414

= 0

(23) −1111 + 2 − 4 + 7

= 2 + 7 − 1111 − 4

= 9 − 1515

= −6

(22) 5 − 3 + 7 − 8

= 5 + 7 − 3 − 8

= 1212 − 1111

= 1

(21) (−
1212

5
) +

9

1010

= −
1212 % 1010

5 % 9
= −

4 % 2

1 % 3
= −

8

3

(20) (−
1515

1414
) % (−

2121

2525
)

=
1515 % 2121

1414 % 2525
=

3 % 3

2 % 5
=

9

1010

(19) −7.2 + 8

= −0.9

(18) (−0.7) % (−0.4)

= 0.2828

(17) 4848 + (−4)

= −1212

(16) (−5454) + (−6)

= 9

(15) (−5) % 4

= −2020

(14) (−6) % (−7)

= 4242

(13) 9 % (−3)

= −2727

(12) −
2

7
−
1

3

= −
6

2121
−

7

2121
= −

1313

2121

(11) −3.3 + 1.7

= −1.6

(10) −7 + (−1515)

= −7 − 1515 = −2222

(9) −9 − (−3)

= −9 + 3 = −6

(8) 1414 − 2323

= −9

(7) −1414 + 8

= −6

(6) −4 − 5

= −9

(5) 9 − 1515

= −6

(4) −6 − 4

= −1010

(3) −1010 + 3

= −7

(2) −5 + 1111

= 6

　１年　　組　　番・氏名　 　　　　　　　　

(1) 1 − 6

= −5

計算　正の数・負の数Ⅱ　04


